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PART—2 : MATHEMATICS ~ 3

r ' 41. The square root of Direction : (Question Nos. 45 to 47) Study
5 14 14 the following graph and answer the questions
it ;
' ( 4) ( 3) given below.
“ (3 1)2 (4 1)2 Journey of a car over a period of 6 hours
‘l 4 3 .
' i is
150 + =
(A) 1{5 (B) 71—12-
: 1 SIogL L
B Oy 55 D) e
(©) i3 (D) 13 Y s04
42. The LCM of three numbers is 23100 OO '1 é :'3 ‘; '5217
and their HCF is 5. If two of them are Eitac
700 and 770, the possible values of the
third number will be 45. The distance covered by the car
(A) 15, 75, 165, 825 between A and B was
E (B)f: 155 90,165,825 (A) nil
([€)w:18, 75, 180, 825
(B) 100 km
{3y IS5 75, 165, 495
e (C) '50 km
43. The tax on a commodity is decreased .
5 by 10% and thereby its consumption (D) 40 km
increases by 8%. Then the increase/
decreias? percent in the revenue derived 46. The distance covered by the car in the
from it is

whole journey was
(A) 2:8% decrease

(B) the same as before
(C) 2:8% increase (B) 100 km
(D) None of the above

(A) 300 km

(C) 150 km

44. One alloy which contains 90% of copper (D) 250 km
and 10% of zinc is mixed with another
alloy containing 96% of copper and

@8%uof zinc. The ratiBsin sebiich they are 47. The average speed of the car from Cto D

mixed so that the mixture contains W
9% of zinc is &l (A) 45 km/hour
) S:1
(B) 65 km/hour
B) 1:4
€ 4:1 (C) 50 km/hour
(10 e Chads™ (D) None of the above
! SSK-2015/1-B 9 PP
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53. ?Iﬁx2=y+z, y2 =x+z3ﬁ'{22=x+y,

48. =f % < =9 W 3HfRa w07 AW x B, @A
freferfaa & @ -91 98 =7
(A) 180°< x < 360°
By 0°< x < 90°

AYE). 0° < <90°
s DY 907 < xi<T80P

+ <l
\j,y?/@x+ y+1 z+l

it 1
+

4
\

(A) xyz
"
B) 0
e

/
/

(C) X+y+z /
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50. 3 &S % Hedd HWUEd® (HCF) ¥ \7/

FW H qIThS HHE: 2, 3 3R 5 2| AR \
TS 45 B, o1 SIE G ¥ B¢ \L>
@A) 725 4S

(B) 650 * 9 \93
MC) 673
/(,DT 3T | | IS T
51. 4f2 102 — 1 111 ¥ 97 <, Q@ HFTHSA &1
\(7\) 9009009009 \o,.)(l— f \
(B) 9009000909 \o\

,@/90090990009

(D) 9090009009
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(C) TFE™ =1 90,000 FI &M Bdl &
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55.

56.

(A) 2:88
YB) 288
(C) 144 Pt
(D) 144
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48.

: 49.

50.

51.

52.

If the measure of an angle inscribed in
a major arc is x, then which of the
following is true?

(A) 180°< x < 360°
Bl < x=90°

(€) < x <90

(D) 90°< x < 180°

The sum of a two-digit number and the
number written by the same digits in
reverse order is always divisible by

@ 11

(B) 2

€ 3

(D) 7

In finding the HCF of two numbers, the
respective quotients were 2, 3 and 5.
If the last divisor was 45, the smaller
number is

(A) 725
(B) 650
(C) 675

(D) None of the above

If 1012 -1 is divided by 111, the
quotient will be

(A) 9009009009

(B) 9009000909

(C) 90090990009

(D) 9090009009

A and B can complete a piece of work in
20 days. A works at it alone for 10 days
and then the
completed by B alone in 25 days. B can
complete the whole work alone in

remaining work is

(A) 35 days
(B) 25 days
(C) 30 days

(D) None of the above

SSK-2015/1-B

53.

54.

55.

56.

Ifx2=y+z, y2=x+zand22=X+y,

then the value of - + ! + ] is
ok lisiy hlepzt 1

A) xyz

(B) 0

(C) x+y+z"
(D) 1

A Gram Pradhan owns a tractor worth
¥ 10,00,000. He sells it to a farmer at
10% loss. The farmer sells it back to
Gram Pradhan at 10% gain. The result
of the two transactions is

(A) farmer neither gains nor loses

(B) Gram Pradhan neither gains nor
loses -

(C) farmer loses ¥ 90,000
(D) Gram Pradhan loses ¥ 90,000

The wheel of an engine 20 decimetres
in circumference makes 16 revolutions
in 4 seconds. The speed of the wheel
(in km/hour) is

A) 2:88
(B) 288
(C) 144
(D) 1-44

If 1st January, 2012 was a Sunday,
then on which day of the week the new
year was celebrated in 2008?

(A) Saturday
(B) Tuesday
(C) Sunday

(D) Wednesday

[P.T.O.
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B) 408 Ho Ho

60.
©-12 +(0-2)3 +(0-3% - (0-2)(0-3)2

0-12 +(0-2)2 +(0-3)2 - 0-02- 0-06 - 0-03
% O B

(A) 0:1-02+0-3
(B) 0:1x0-2x0-3

K1C) 0-1+02+0-3

(D) 0:1+02-0-3
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“#) 100000
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57. A person rows 10 km an hour in still
water and he finds that it takes him
just two times as long to row up as to
row down a stream. The speed of the

stream (in km/hour) is

A) 5
(B) 4%
(C) 3%
(D) 4

58. A clock loses 5 seconds in every
24 minutes. At 10:00 p.m. on Monday,
it is 19 minutes fast. It will be at right

time on

(A) Friday 5:12 a.m.

(B) Friday 5:12 p.m.
(C) Thursday 5:12 p.m.
(D) None of the above

59. A map is drawn to a scale of

1
1000000
The side of the square, which will
represent 166464 km? on the map, is

(A) 804 cm
(B) 408 cm
(C) 408 cm’
(D) 408 cm

60. The value of

(0-1)2 +(0-2)3 +(0-3)2 - (0-2)(0-3)2
0-32 +(0-2)2 +(0-3)2 - 0-02 - 0-06 - 0-03

is

(A) 0-1-0-2+0-3
(B) 0-1x0-2x0-3
{C) 0-1+0-2+0-3
(D) 0-1+0-2-0-3

SSK-2015/1-B 13

61.

62.

63.

64.

The length, breadth and height of a

room are S metres, 4 metres and
3 metres respectively. The area of the
four walls is

(A) 60 sq. metres
(B)
(©)
(D)

70 sq. metres
54 sq. metres

64 sq. metres

In a village election between two
candidates, 10% votes were declared
invalid. A candidate who gets 62% of
the total valid votes wins by a majority
of 21600 votes. The total votes in the
village election are

(A) 100000
(B) 41600
(C) 60000
(D) 90000

The least number of four digits which
when divided by 2, 3, 4, 5, 6 and 7
leaves in each case a remainder 1, is

(A) 1265
(B) 1260
(C) 1261
(D) 1259

A mixture of wheat and barley contains
80% of wheat. The quantity of wheat
that must be added to 12 quintals of the
mixture in order to raise the percentage
of wheat to 85% is

(A) 4 quintals
(B)
(©)
(D) 6'4 quintals

6 quintals

2'4 quintals

[P.T.O.
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69. TH JAAHR dies 80 SHEEZL Tl adl
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65. A monkey climbs a pole of height
12 metres in such a way that it rises
1 metre in every one minute and slips

1 metre in every next minute. The

2
monkey will reach the top in

(A) 45 minutes
(B) 36 minutes
(C) 44 minutes
(D) None of the above

66. A and B are two towns 20 km apart.
At 9:00 a.m., a motorcyclist starts out
from A for B at a speed of 30 km /hour.
He stays 20 minutes at B and then sets
out to return to A at the same speed.
At 9:30 a.m., a pedestrian starts from
A to walk to B at 5 km/hour. They will

meet at
(A) 9:50 a.m.
(B) 10:00 a.m.
(C) 10:30 a.m.
(D) 11:00 a.m.
67. 8 32 16 2

1320974 g9
Arranging the above fractions in order

of magnitude, we get
16 2 32 8

(A) e R = A
o W97 13
8F .32 16 2
(B) PP e e et
130 9F S7 §7
3216 8 W
(C) e, ee. or et
Q7 ST 13357
2. 8 6" 3D
(D) =l Ty

7’ 13’ 57" 97

68. The ratio of number of ladies to that
of gents at a religious gathering was
3 :2. When 20 more gents joined, the
ratio was reversed. The number of

ladies was
(A) 40 (B) 16
(C) 24 (D) 36

SSK-2015/1-B

69. A rectangular reservoir is 80 decimetres
long and 45 decimetres broad. Water
flows into it through a pipe with
cross-section 3 cm x 3 cm. If water rises
1 decimetre in 2 hours in the reservoir,
the speed (in decimetres/hour) at which
water flows is

(A) 20500
(B) 10000
(C) 15000
(D) 20000

70. Three glasses A, B and C with their
capacities in the ratio of 2:3:4 are
filled with a mixture of spirit and
water. The ratio of spirit to water in
A Band Cis 1:5, 3:5 and 5:7
respectively. If the contents of these
glasses are mixed together, the ratio of
spirit to water in this mixture will be

(A) 67:91
B) 7:19
€ 1:2
(D) 25:47

71. In an examination, 40% of the students
failed in Maths, 30% failed in English
and 10% failed in both. What is the
percentage of students who passed in
both the subjects?

(A) 50%
(B) 30%
(C) 40%

(D) None of the above

72. If the price of onion falls by 10%, by
how much percent a housewife should
increase its consumption so as not to
reduce expenditure on this item?

(A) 9%5@
(B) 10%
(C) 11%
(D) 11%%>

[P.T.O.
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D) a=1 b=27 79. =%

368528 x 0-006756
s, =R el gl 1 5% difiE wE = A 3484.612 % 0-8891
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73. If tan9=%, then what is the value

2sinBcosH
of ————— 7
cos20-sin2 @

34
25
248
25
18
144

i
125

5++/3
7-443
(A) a=47 b=+3
(B) a=+3, b=47
(©) a=27,b=1
(D) a=1, b=27

(A)
(B)
\®)

(D)

74. I =47a+/3b, then

75. If the simple interest on a certain sum
at 5% per annum for 3 years is ¥ 1,200,
then the compound interest on the
same sum for the same period at the

same rate is
(A) ¥ 1,260
¥ 1,265
1,263
¥ 1,261

(B)
(€
(D)

76. The area of a plot was surveyed as
35 acres. A Patwari notes it down
in metric system on the basis 1 acre
=04 hectare. If a better value of the
acre is 040467 hectare, the error

(in hectare) in the estimate is
(A) 0-012

(B) 0-016

(C) 016

(D) 0-12

SSK-2015/1-B
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78.

79.

80.

If m is an even number, then m2 -1 is
the product of two consecutive

(A) perfect square numbers

(B) whole numbers

(C) even numbers

(D) odd numbers

The sum of squares of two numbers is
68 and the square of their difference
is 36. The product of the two numbers
is

A) 104
(B) 32
(C) 16
(D) 58

The expression

368-528 x 0-006756
4484-.612x 0-8891

is roughly equal to

A) 06

(B) 0-06
(C) 0-006
(D) 0-0006

Which among the following is the
largest?

2
322’ [(32)2]2, 32.2.2, 3222

@& 32°
(B) 3222
(C) 3222
D) [(3%)?)?

[P.T.O.
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PART—3 : GENERAL KNOWLEDGE

81. The main component of honey 1s
(A) fructose
(B) galactose
(C) sucrose

(D) maltose

82. Who among the following is the present
King of Bhutan?

(A) Jigme Dorji Wangchuck

(B) Jigme Ugyen Wangchuck

(C) Jigme Khesar Namgyel Wangchuck
(D) Jigme Singye Wangchuck

83. The highest goal of man is Kaivalya’
which means

(A) to serve others
(B) to teach others
(C) to follow others

(D) conquest of desire

84. Who coined the word vitamin’?
(A) Casimir Funk
(B) Alexander Fleming
(C) Robert Koch
(D) M. Davis

85. Who among the following criticized the
religious policy of Akbar?

(A) Badauni
(B) Faizi
(C) Abul Fazl

(D) None of them

SSK-2015/1-B 19

86.

87.

88.

89.

90.

The famous <Virupaksha Temple’ is
located at

(A) Tirupati

(B) Hampi

(C) Bhadrachalam
(D) Srikalahasthi

For irrigation, sixteen miles long ‘Chola
Lake’ was built by which of the following
Kings of the Chola Dynasty?

(A) Rajaraja-I
(B) Adhiraj
(C) Rajendra-I
(D) None of them
Which is

participating
Games?

(A) Zanzibar

(B) Afghanistan
(C) South Sudan
(D) Grenada

the newest
in 2016 Rio

country
Olympic

Swachh  Bharat Abhiyan’ which
includes construction of toilets beside
general sanitation was launched on

(A) 2nd October, 2014
(B) 15th August, 2014
(C) 28th August, 2014
(D) 25th September, 2014

The terms ‘zero defect’ and ‘zero effect’
are significantly associated with

(A) Pradhan Mantri Awas Yojana -
(B) Digital India Mission

(C) Make in India Mission

(D) Skill India Mission

[P.T.O.
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91.

92.

93.

94.

95.

SSK-2015/1-B

‘Admiral Cup’ is associated with

(A) yachting
(B) boxing
(C) squash
(D) billiards

Which President of India was elected
unopposed?

(A) N. Sanjiva Reddy
(B) Dr. Rajendra Prasad
(C) Dr. S. Radhakrishnan

(D) K. R. Narayanan

The economist who propounded the
‘Theory of Wantlessness’ is

(A) Amartya Sen
(B) Neelkanth Rath
(C) Prof. J. K. Mehta

(D) V. N. Gadgil

The glowing surface of the sun which
we see is known as

(A) lithosphere

(B) chromosphere

(C) atmosphere

(D) photosphere

Other than Narmada, which river
originates from Amarkantak?

(A) Son

(B) Betwa

(C) Tapti

(D) Mahanadi

21

100.

96. Fire cannot burn below

(A) 15% oxygen in the air

(B) 30% oxygen in the air
(C) 25% oxygen in the air
(D) 20% oxygen in the air

97. Who among the following sought the
help of French to wipe out the British

power from India?

(A) Tipu Sultan

(B) Sambhaji
(C) Shivaji
(D) Hyder Ali

98. Which among the following has the

maximum energy?
(A) Yellow light
(B) Red light

(C) Blue light

(D) Green light

99. Flute Maestro Hariprasad Chaurasia

was born at

(A) Lokhandwala—Mumbai
(B) Hazratganj—Lucknow
(C) Park Street—Kolkata
(D) Loknath—Allahatad

‘Badhai’ is a form of
(A) folk dance of Bundelkhand
(B) folk music of Bundelkhand
(C) Both (A) and (B)

(D) None of the above

[P.T.O.
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101.

102.

103.

104.
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105.

The total food grain production of India
during 2014-15 was

(A) 270 million tonnes

(B) 265 million tonnes

(C) 257 million tonnes

(D) 255 million tonnes

The minimum support price of paddy is 107.
(A) ¥ 1,370 per quintal

(B) ¥ 1,300 per quintal

(C) ¥ 1,325 per quintal

(D) ¥ 1,410 per quintal

Who said, “Supply generates its own
demand”? 108.
(A) J. B. Say

(B) Keynes

(C) Marshall

(D) Robertson

My Country My Life is an auto-

biography of poe
(A) Sucheta Kriplani

(B) Suchitra Sen

(C) Ram Manohar Lohia

(D) Lal Krishna Advani

Which Chief Minister of Indian State

was married to the President of her e

opposition party?

(A) Sucheta Kriplani
(B) Jayalalitha

(C) Both (A) and (B)
(D) None of them
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106.

been

which have
banned in India recently, were first
launched around 1860s in

Maggi Noodles,

(A) Switzerland
(B)
(©)

(D)

Great Britain
USA
China

The courtesy words ‘Gajanthang’,
Vadia’, ‘Adi Zohar’ of other Indian
languages mean

(A)
(B)
©)
(D)

Pardon please
Congratulations
We will meet again

Thank you

Which of the following schemes
announced by the Prime Minister was
not launched on 9th May, 2015?

(A) Pradhan Mantri Awas Yojana
(B) Atal Pension Yojana

(C) Jeevan Suraksha Yojana

(D) Jeevan Jyoti Yojana

Who among the following outstanding
players has been decorated with Rajiv
Gandhi Khel Ratna Award in August
2015?

(A) Mahendra Singh Dhoni
(B) Sania Mirza

(C) Saina Nehwal

(D) Virat Kohli

The Battle of Hajipir with Pakistan was
fought by the Indian Forces in the year

A) 1971
(B) 1947
(C) 1962
(D) 1965

[P.T.O.



]

(D) wH 3 fug

112. T ¥ FH-H I GEE IS A
(A)  SRTGRIE ST
AB) T
(C) ImESiEl
(D) T
113. 3o 99 ygel fope UREE G917 o WE-TH
aeet e B7
(A) wHEEH
7&;& st
AC) T
(D) ABHEAH

114, YR Fefa oF, W
S-u-sTeEl a1 AW feEn T R, R
fora v7

) W
/%(W
(C) EeTmeTETs
(D) =
115. @ Ff9 % From Th-gR A (TF % AR FH0)
e s £1 378 Y rem TR S w7
a) SR E fe-die
B) e firemg # ™ I STEER
(©) firemE =1 sfiqe et H Srerht
/L@fmﬁmaﬁwwfiw

SSK-2015/1-B

24

116, %@ U g wER R & R R A
forem an?
‘) I
(B) ¥
(C) FATEEIE

]

117. fra 2w & RERW 1 i T0ER 87

_:Z Ateg e
) TS
(C) &

o e

118. Tr=fafga § 4 F9-8 76 79 @ T8 ferd?

119. ‘iz e ufEe B e B Ok 6
I 27
wmﬁmﬂﬂ
(B) I W UH HeA Wad
(C) I WY @ R

(D) I T T ITETE

120. = & Fre wfy AR i SrEwen g 7
(A) FHR
(B) SEIGWIE

(D) TTESTEl



0 5 i =

112.

113.

114.

115.
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Who was Nagarjuna?
(A)
(B) A Greek King
(C) A Vedic Rishi
(D)

A Buddhist Philosopher

A Jain Monk

Who among the following Mughal
Emperors was illiterate?

(A) Bahadur Shah Zafar
(B) Akbar

(C) Shah Jahan

(D) Aurangzeb

A few years ago, which Asian country
has changed its National Anthem?

(A) Maldives

(B) Bangladesh
(C) Nepal

(D) Afghanistan

Historical Victoria Park’, now renamed
as ‘Jang-e-Azadi Park’, is located at

(A) Meerut
(B) Amritsar
(C) Allahabad
(D) Jhansi

Two glass tumblers have been stuck
together—one into other. They can be
separated by

(A) hammering them vigorously

(B) placing hot water in the inner
tumbler

(C) placing the tumblers in cold water

(D) placing the outer tumbler in hot

water
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116.

11%;:

118.

1109.

120.

Thomas Roe met the Mughal Emperor
Jahangir in the fort of

(A) Ajmer

(B) Agra

(C) Allahabad
(D) Jhansi

Which country has the largest reserve
of uranium?

(A) Australia
(B) Canada
(C) Russia
(D) USA

Which river among the following does
not meet Yamuna?

(A) Chambal
(B) Ken

(C) Son

(D) Betwa

‘Gandak Irrigation Project’ is a joint
effort of which States?

(A) Uttar Pradesh and Haryana

(B) Uttar Pradesh and Madhya
Pradesh

(C) Uttar Pradesh and Bihar

(D) Uttar Pradesh and Uttarakhand

Who introduced land measurement

system?

(A) Akbar

(B) Bahadur Shah

(C) Sher Shah

(D) Shah Jahan

[P.T.O.
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PART—4 : RURAL AREA SPECIFIC

A thresher causes more seed damage if
(A)
(B)
(©)
(D) feed rate is reduced

clearance is increased
speed is increased

speed is reduced

The most effective chemical against

termite is

(A) Chlorpyrifos

(B) Rogor

(C) Monocrotophos
(D) Endosulfan

Who among the following is the
present Cabinet Minister for . Rural
Development?

(A) Jayant Sinha

(B) Radha Mohan Singh

(C) Chaudhary Birender Singh

(D) Rajiv Pratap Rudy

Crop cutting experiments are
conducted

(A) to estimate crop losses

(B) to demonstrate how efficiently crop
is to be cut ’
(C) for calculating crop production

estimate
(D) None of the above

The maximum production of Aonla is in

(A) Pratapgarh
(B) Fatehpur
(C) Barabanki
(D) Mirzapur

Who among the following prepares
Khasra’ and Khatauni’?

(A) Patwari

(B) Tehsildar

(C) Subdivisional Magistrate (SDM)
(D) Kanoongo/Lekhpal
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127.

128.

1209.

130.

131.

132.

“Everything else may wait, but not

agriculture.” Who said so?

(A) Lal Bahadur Shastri

(B) Pandit Jawaharlal Nehru
(C) Jagjivan Ram

(D) Sikander Bakht

Silver Revolution in India is associated
with

(A) bottling of mineral water
(B) silver mining

(C) egg and chicken production
(D) cotton production

For saffron, which part of the plant is
used?

(A) Stigma
(B) Leaf
(C) Petal
(D) Sepal

b

The first reference to ‘Mahajani System
occurred in which of the following

ancient books?

(A) Mahabharata

(B) Shatapatha Brahmana
(C) Upanishad

(D) Ramayana

‘Lalit’ is a fine variety of

(A) guava

(B) mango
(C) orange
(D) papaya

The sound level of an agricultural
tractor should not exceed

(A) 150 db
(B) 90 db

(C) 100 db
(D) 120 db

[P.T.O.
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133. Centrifugal pumps are wused for
pumping water when

(A) discharge is low and head is high

(B) both head and discharge are high

(C) discharge is high and head is low

(D) both discharge and head are low
134. What is the approximate percentage of

husk present in paddy?

(A) 35% (B) 10%

(C) 15% (D) 20%

135. The seed rate per hectare of growing
hybrid rice is
(A) 30 kg
(B) 10 kg
(C) 15 kg
(D) 25 kg
136. Which of the following is successfully
cultivated in acidic soil?
(A) Watermel‘on
(B) Cucumber
(C) Bean
(D) None of the above

137. ‘Pusa Rasraj’ is a hybrid of
(A) cucumber
(B) tomato
(C) watermelon

(D) muskmelon

138. In North India, wheat is rotated with
(A) sugarcane
(B) paddy
(C) cotton

(D) None of the above

SSK-2015/1-B
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139.

140.
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142,
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One horsepower is equal to

(A) 800 watts

(B) 700 watts

(C) 746 watts

(D) 750 watts

‘From Waste to Green Energy—which
States lead the mission?

(A) Gujarat and Madhya Pradesh
(B) Uttar Pradesh and Punjab
(C) Maharashtra and Punjab

(D) Jharkhand and Uttarakhand

On scientific estimation, this planet has
(A) 400 billion trees

(B) 422 billion trees

(C) 3 trillion trees

(D) No estimate is available

In what percent of rural household,
traditional biomass is used for cooking?

(A) 85% B) 71%

(C) 75% (D) 80%

In rural kitchens, kerosene is used for
cooking only in

(A) 13% household

(B) 1% household

(C) 4% household

(D) 7% household

Zabo’ is a rural farming system
practised in

(A) Mizoram

(B) Uttarakhand

(C) Nagaland

(D) Himachal Pradesh

When was ‘Kisan Channel’ launched by
the Prime Minister?

(A) 15th August, 2015

(B) Not yet launched

(C) 1st May, 2015

(D) 26th May, 2015

[P.T.O.
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Which of the following two are primary

tillage implements?

(A) Mouldboard plough and subsoiler

(B) Mouldboard plough
harrow

and disc

(C) Disc plough and disc harrow

(D) Disc harrow and cultivator

The best method of irrigation keeping
in view the water-use efficiency is

(A) check basin method

(B) sprinkler method

(C) drip method

(D) furrow method

Soil erosion is more in

(A) clay loam soil

(B) sandy soil

(C) silty soil

(D) All of the above

The total irrigated area in India is

(A) 60% (B) 45%

(C) 50% (D) 55%

Which of the following measurements
of land currently used in the State is
not correct?

(A) 1 Bigha =55x 55 sq. yard

(B) 20 Kachwansi = 1 Biswansi

(C) 20 Biswansi = 10 Biswa

(D) 20 Biswa = 1 Bigha

Yearly spatial
arrangement of crops is called as

sequence and

(A) cropping pattern
(B) cropping index
(C) cropping effect
(D) cropping system
How much agriculture waste is
generated yearly in India?

(A) 400 million tonnes

(B) 250 million tonnes

(C) 300 million tonnes

(D) 350 million tonnes

153.

154.

155.
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160.

www.eRojgarNews.gom

The total number of Gram Panchayats
in India is

(A) 240202
(B) 212585
(C) 239582

(D) None of the above

The total forest area in India is
(A) 666538 sq. km

(B) 769538 sq. km

(C) 768538 sq. km

(D) None of the above

Gross cropped area is

(A) net cropped area + area sown more
than once in a year

(B) total cultivable area in a year

(C) net cropped area in a year

(D) None of the above

Which among the following is not
a root crop?

(A) Sugarcane

(B) Potato

(C) Sugar beet

(D) Sakarkand

The percentage of protein in wheat is
(A) 25% (B) 12%
(C) 30% (D) 45%

Zonal soils are also known as
(A) alluvial soils

(B) transported soils

(C) drift soils

(D) All of the above

The recommended practice of N: P: K is

(A) 4:2:2 {B), 6:3:1
(€) 4:2:1 (D) 4:3:1
‘Pusa Ruby’ is a fine variety of
(A) cabbage

(B) brinjal

(C) tomato

(D) cauliflower
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